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COMPREHENSIVE REVISION TEST (UNTT TEST)SERIES - 2021

TEST No. d
MUt CHEMISTRY - UNIT Vime : 45mits
Sul. X | Chaplers: 1, 2 Folal Seore : 10

Imsiruction
o Answer the guestions haved am imgiruciions

o Anywer the Yuestions according 1o the scor parted fimme
Amswer any TWO guestions from |t 3 Each question carries | score
| tdentify the sub shell with the highest eneriry

aids B 3p )M d)ds
2 The amount of acompound in grams equial ko its molecular mans 15 ¢ alled
1 The atomic mass of Sodium is given as 33 units, What does | unit stand lor here?
Answer any TWO guestions from 4 10 6. Each question carries 2 scares (2x2=4)
4 ) Which of the following configurations do not make sénse”

(3%, 2d", 3p’. %)

by How will you justify this?

Adter analysing the table, write the values indicated by the letters "a' and b’
$  Being o transition element, Manganese forms different types of oxides, Complete the tanbls

related with the oxides of Mn. (Atomic number : Mn = 25)

- . Oxidution state Sub shell electron configuration
: of Manganese of Manganese ion
b MnO, +1 iAo ) s easssrssnsorars
] Mn 0, (R [Ar]3d g
R ) W g () vsiadts 1§°25%2p*3s°3p"

6. &mn&mbkmmmlhnmlum:-nfnmmmaf@s.whmtheyan-kcpt
under the following conditions.
Case (i) : When the pressure of the gas iskept Constant.
Case (ii) : When the temperature of the gas is kept constant.
Answer any TWO questions from 7 1o 9. Each question carries 3 scores, 2x3=06)
7 When the last electron of the atom of an element, *A' was filled in the 3d subshell, itis found
0 be the 3d*. Answer the questions based on these informations.
aerit:duwnﬂumhﬂI:lidmmnﬁgumﬁmﬂﬂnm
b) What is the period number and Group number of *A'.
) Mention one characteristic property that ‘A may exhibit,
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g a)Givethe F.ﬂtﬁﬂﬁﬂﬂf"&ﬁlf-«l aw
b) The size of the ait habblcs rising from the botior

v il fin hlll-l.'r'lﬁi LTT-!-iIL.I” \

PCTTASCS { v reason

o Match the column ‘A" with B and ‘C
A 1] C
LCa [s72¢ 2p" 35" 3p’ p block A
L1 | (A s block
s’ d block
—-:E - s block
10 12. Each question carries 4 scores (2x4=§)

{rswer any TWO guestions from 1
10 Lanthanoids and Actinoids form two series of elements. p

Modern Periodic Table.
a) What s the period number of these two series of elements.
&) Which is the subshell in which the last electron has been filled in
Lanthanoids?
(3d,41.4d. 51) ;
¢} Mention one characteristic property of these elements, which are shown by
d) Centain elements of these series are used as nuclear fuels. Mention any two such
elements. : '
11 a) Find the molecular mass of carbonie acid (HLCO,). :
[Atomic mass: H=1,C=12,0=16] '
b) How many GMM is present in 124g of H.CO,? :
<) Find out the following in respect of 620g of Carbonic acid.
i) The number of moles of H,CO, molécules.
i) The number of molecules of H,CO..
- 12, Theoutermost electron configuration of the element N is 25 2p°,
3) Wiy the group number and block of the clement. "
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